
• (Wirtinger Inequality )
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Rank : • Let f be any
2T - periodic c

' function
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pf : let ↳ = fix, - FC01 .
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Applying Wirtmger Inequality to h
,
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will get this
.
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then
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'
can be replaced by piecewise C

'

.

• Let 1- and g he ↳
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with Flo)= 0 .

Then 1¥ taiga,dxfsf.tl#idxfFlgixTdxRmk
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This is a generalization of Wirtinger

Inequality .
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• Let t be a tu - periodic c ' function

with fuel -_ 0 .

Then
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and extend
g
to be a 4-11-periodic

function
.

Since 1- cos :O ,
then g is well-defined

.

Applying generalized Wirtmger
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and then extended to a ta
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function

☐

'Ronk : For ta -periodic c ' function
,

if

we ¥0 )=o or food :O
,
we can



both control the E-norm of f-

by the E- norm of its derivative
.
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